XSVR ED

HANSAVFLEX

H R HE A IR E
| _§:3
01 BSPSMRG B W S
FEHEXN1 ER A
A
802 KEA B AR f rﬁlﬂq“q:'gf
5
BHER 2 24°mE Al ! *'IGJ,Z
EMRE  BERAXRRER = EEC S e S 4
R EE i L2
Y DIN 2353 - L1 -
ISO 8434-1
i ssE BEETTHEBRIM )
RS w
REARY HERE
’r
BRZE. A, EXARNATHIERENRAEEZSAERIEEZNERER.
%
B Z£lMRy IHEEHE @d2  Gf G2 @d3 i L1 L2 SW S1
(mm) (mm) (mm) (mm) (mm) (mm)
XSVR NW 06 HL ED L PN 315 8 G 1/4"-19 M14x15 189 12 53,0 27,0 19 19
XSVRNW 06 HL 3/8 ED L PN 315 8 G 3/8"-19 M14x15 21,9 12 54,5 27,0 22 19
XSVRNWO6HL1/2ED L PN 315 8 G 1/2"-14 M14x15 26,9 14 58,0 27,0 27 19
XSVR NW 08 HL ED L PN 315 10 G 1/4"-19 M16x15 189 12 55,0 28,0 22 22
XSVRNWO8HL1/2ED L PN 315 10 G 1/2"-14 M16x15 26,9 14 59,0 27,0 27 22
XSVR NW 10 HL ED L PN 315 12 G 3/8"-19 M18x15 21,9 12 56,5 29,0 24 24
XSVRNW 10 HL1/2ED L PN 315 12 G 1/2"-14 M18x15 26,9 14 60,0 29,0 27 24
XSVR NW 13 HL ED L PN 250 15 G 1/2"-14 M22x15 26,9 14 62,0 31,0 27 30
XSVRNW 13 HL3/4ED L PN 250 15 G 3/4"-14 M22x15 31,9 16 66,0 31,0 32 30
XSVR NW 16 HL ED L PN 250 18 G 1/2"-14 M26x15 26,9 14 66,0 33,5 32 36
XSVRNW 16 HL3/4ED L PN 250 18 G 3/4" 14 M26x1.5 319 16 68,0 33,5 32 36
XSVRNW16 HL1ED L PN 250 18 G1"-11 M26x1.5 399 18 73,0 33,5 41 36
XSVR NW 20 HL ED L PN 250 22 G 3/4"-14 M 30 x 2 31,9 16 71,0 34,5 36 41
XSVR NW 40 HL ED L PN 250 42 G1.1/2"11  M52x2 54,9 22 86,0 36,0 60 65
XSVRNW 08 HS 1/2ED S PN 400 12 G 1/2"-14 M20x15 26,9 14 65,0 30,5 27 27
XSVR NW 13 HS ED S PN 400 16 G 1/2"-14 M24x15 26,9 14 68,0 31,5 32 32
XSVRNW 13HS 3/4ED S PN 400 16 G 3/4"-14 M24x15 31,9 16 70,0 31,5 32 32
XSVR NW 16 HS ED S PN 400 20 G 3/4" 14 M 30 x 2 31,9 16 75,0 33,5 41 41
XSVRNW 20 HS 3/4ED S PN 400 25 G 3/4"-14 M 36 x 2 31,9 16 80,0 35,0 46 46
XSVR NW 20 HS ED S PN 400 25 G 1"-11 M 36 x 2 39,9 18 82,0 35,0 46 46
XSVR NW 25 HS ED S PN 400 30 G1.14"11  M42x2 49,9 20 89,0 37,5 50 50
ZRRFLL=FER =B S=E - PN=FIEEN PB=J|AIEN - 0d2=ENER
&4
WD HTEDEREENREH
BERT T HBF G BRNIT % 52 HER 5 2 R0 T 88, NPT IR B 15 BBIE AR L1\ 5 T RSB LETFAT,
27.11.2024 HANSA-FLEX AG www. hansa-flex.com 1



